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sbauer cut at bisection function root finder... i '“{fij
fwnction dummy= bisect (x1,xu,es, imax,Xr,iter, ea)

Jﬁsmm)&//"?

iter=0;

2l

P

in=[x1,xu, es, imax,xr,iter, ea] ;

= while iter<imax
xrold=xr;
xr=(xl+xu) /2; /
iter=iter+1;
if xr-=0
ea=abs ( (xr-xrold) /xr) *100;
end
test=f (x1) *f (xr) ;
% disp(test)
if test<O0
Xu—xr;
elseif test>0
i =1
end

ut=[x1,£(x1),xr, £(xx),xu, £ (xu),ea, iter];
disp (out) .
bifect=xr;

il
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>3 bisec’t(l,loo,.1,1oo,o,o,1ooo)<¢'¢j

=& 1. 0e+003 *

f; 0.0010 0.1000Q N o0 0.1000 o Y 10000 =

[ {xe) Y- {(yr) Fis {{) £ (e
50.5000 -4.7269 50.5000 -4.7269 100.0000 8.7282 100.0000 1.0000
50.5000 -4.7269 75.2500 3:.3527 75.2500 3.3527 32.8904 2.0000
62.8750 -0.2486 62 .8750 -0.2486 75.2500 3.3527 15.6819 3.0000
62.8750 -0.2486 69.0625 1.6467 69:. 0625 1.6467 8.9593 4.0000
62.8750 -0.2486 £5.5688 0.7244 65.5688 0.7244 4.6887 5.0000
62.8750 -0.2486 64 .4219 0.2445 64.4219 0.2445 2.4012 6.0000
£3.6484 -0.0004 £3.6484 -0.0004 64.4219 0.2445 1.2152 7.0000
63.6484 -0.0004 £4.0352 0.1225 64.0352 0.1225 0.6039 8.0000
63.6484 -0.0004 €3.8418 0.0611 63.8418 0.0611 0.3029 9.0000
£3.6484 -0.0004 6317451 0.0304 63.7451 0.0304 0.1517 10.0000
63.6484 -0.0004 63.6968 0.0150 63.6968 0.0150 0.075% 11.0000
£3.6484 -0.0004 63.6726 0.0073 63.6726 0.0073 0.0380 12.0000

.63.6484 -0.0004 63.6605 0:.0035 63.6605 0.0035 0.0150 13.0000
63.6484 -0.0004 £3.6545 0.0015 63.6545 0.0015 _ 0.0085 14.0000
63.6484 -0.0004 63.6515 0.0006 63.6515 0.0006 0.0047 15.6000
63.6484 -0.0004 63.6459 0.0001 63.6499 0.0002 0.0024 16.0000
63.6492 -0.0002 63.6492 -0.0002 63.6499 0.0001 0.0012 17 .10000
63.6486 -0.0000 63.64%6 -0.0000 63.6499 0.0001 0.0006 18.0000
63.6496 -0.0000 63.6498 0.0000 63.6498 0.0000 0.0003 19.0000
63.6497 -0.0000 63.6497 -0.0000 63.6498  0.0000  0.0001 20.0000
63.6497 -0.0000 63.6457 0.0000 63.6497 0.0000 0.0001 21.0000
63.6497 -0.0000 63.6497 -O;OOOO 63.64597 0.0000 0.0000 22.0000
63.6497 -0.0000 63.6497 0.0000 63.6497 0.0000 0.0000 23.0000
63.6497 -0.0000 63.6497 0.0000 63.6497 0.0000 0.0000 24.0000
63.6497 -0.0000 63.6497 -0.0000 63.6497 0.0000 0.0000 25.0000

.63.6497 -0.0000 63.6497 0.0000 63.6497 0.0000 0.0000 26.0"000
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sbauer cut at bisection function root finder...

“rnction dummy= bisect (xl,xu,es,imax,xr,iter,ea)
in=[x1,xu,es, imax,xr,iter,eal ;
v{t’ 18D (in)
iter=0;
2 while (iter<imax) & (eases)
xrold=xr; T,
xr=(xl+xu)/2;
iter=iter+1;
if xr~=
ea=abs ( (xr-xrold) /xr) *100;
end
test=£f (x1) *f (xT) ;
disp(test)
if test<0
X=XT

o\@

elseif test>0

Xl=xT;
end
out=[x1,£(x1),xr, f(xr),xu, f(xu),ea,iter];
disp (out)
3 bisect=xr;
2hd




, _ >
>> bisect (1,100,.1,100,0,0,1000) C)

1.0e+003 *

0.0010 0.1000 0.000L 0.1000 0 0 1.0000

50.5000 -4.7269 50.5000 -4.7265 100.0000 8.7282 100.0000 1.0000
50.5000 -4.7269 75.2500 3:3527 752500 3.3527 32.8904 2.0000
62.8750 -0.2486 62.8750 -0.248¢ 75.2500 3.3527 15.6819 3.0000
62.8750 -0.2486 69.0625 1.6467 69.0625 1.6467 8.9593 4.0000
£2.8750 -0.248¢6 65.9688 0.7244 65.9688 0.7244 4.6897 ° 5.0000
62:8750 -0.248¢ 64.4219 0.2445 64.4219 0.2445 2.4012 6.0000
£3.6484 -0.0004 63.6484 -0.0004 64.4219 0.2445 1.2152 7.0000
£3.6484 -0.0004 64.0352 0.1225 64.0352 0.1225 0.6038 8.0000
£3.6484 -0.0004 63.8418 0.0611 £3.8418 0. 06313 0.3029 $.0000
£3.6484 -0.0004 63.7451 0.0304 63.7451 0.0304 Gi.1517 10.0000
£3.6484 -0.0004 63.6968 0.0150 €3.6968 0.0150 0.0759 11.0000

TAGUIRED kK —
@ HOPIFY THIS TRowPAM W (fOLUDE

AN niTIAL (HECK T SE€ IFYOUR-
CcorpLIED (% xa) vaLoss PEFNE AN

I Tepunt CovTHINING A 257,

9 RUN AN ExpmPLe WHELE
£ ! CoNTAIN A ROOT AND DEMONSTRATE
Cope Detcers TS (A, o
7 , / 04 . s L%/;’ Ay VY

A 2 PO o SO v—ﬁ T [;_ 4y '
rF L : : 33 e i R / 4, : : N
i/ 7 !/ v ,\:’ s f") 4 /t";-"; il :—’{ PV 5 ‘4{ [ et T g .. i

P 2 FEEE SV Ak ey Lot 7g' Y i -

£

L VALUES Do NOT
AT THE



